
©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (1/7)23.07.2025 

Asennusaika
h / 2hlö

Ikäsuositus
+1 v.

Käyttäjämäärä Pituus
1060mm

Korkeus
810mm

Leveys
625mm

Putoamiskorkeus
595mm

Putoamisalue
12,4m2



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (2/7)23.07.2025 

Putoamisalue
35
32

4053

15
00

15
00

1500 1500

Turva-alue 12,4m2



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (3/7)23.07.2025 

Mitat

60
0

14
10

59
581

0

495

1390

600
894

1043 532

54
5

21
5

1725

60
0

500



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (4/7)23.07.2025 

Osaluettelo
M00672 2

4

ME-02921 1 RU-00002 14 PU-00448 2 HL-00535 1 RU-00018 6 RU-00048 6 RU-00081 6 ME102 4



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (5/7)23.07.2025 

Leikkitason asentaminen
ME-02921

RU-00081
M10x30 Uppokanta

RU-00048
M10 Hattumutteri Nylock

RU-00002
M10x30



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (6/7)23.07.2025 

Maa-ankkurin asennus
ME102

A

RU-00002
M8x80



©
 2

0
23

 P
uu

ha
 G

ro
up

 O
y

Asennusohje T240061 (7/7)23.07.2025 

Hiekkalapion kiinnittäminen
M00672

B

RU-00015
6x60/36 TX25

MU071
Peitehattu


